105 & PBEZ A B £ BEAF [
B ~ % - Stoa Y FE L 5101660 (2d)
F xR B A TR A e ok
* W RE YR
S = XY
# B AR
TRER 2 A B
MOLA  OF MR TP E
OF SR> 08 BHHRATEE § 5 FRA D ARE L o AR FF %0 31 P
-~ FFTAORENER CEVE AT R ST FRE (£ ) % E (Equivalence EV) -
Bk At YR (E) S o Auld 8% 10%27 15%% i o
Oft=0&EHEV E? (64)
Oft=4&pEHEV E? (64)

EFt=10&FHEV &2 (64 )
Rt 10 & FenTaf| k£ 5092 (74)
$1,000

# MARR ( Minimum Acceptable Rate of Return) = 10% » 3F - #&7%— B > % 4 & i3
A2 104 » £ 30 4 )

(=]

G2 i (Present Worth, PW ) 4 47 ©
@& F ® (Equivaent Annual Worth, EAW ) i3 4~ 47 (Incremental Analysis) ©
Erp P F S (Internal Rate of Return, IRR) 4 47 ©

1,000
$1,000 $1,000 ¥
$8OO A A ﬂk A
A
$400
I 8% 8% 8% | 10% 10% 10% 10% | 15% | 15% | 15%
[
0 Ji 21 3 4 5 6 7 8 9 10
v
$500 $500 $500
v v v
$800 $800 $800
S A2 PR E BB BRTE S Z AR AR A W E T
Py NCF(1) NCF(2) NCF(3)
0 - $ 40,000 - $25,000 $0
1 $16,500 $5,000 $0
2 $16,500 $10,000 $0
3 $16,500 $15,000 $0
4 $16,500 $20,000 $0
$16,500 $25,000 $0

?



105# & B E 2 $pst B
HEF o~ % - X 8 B H

&
kj

A
>

£
(A

=4

Ji

7 Ex
i ;11; %J:i g ‘H il 5L 1 01660
] PN

F
o AuF RS EMEITEEIE - (F A 104 > £ 304 )

B & (Straight L|ne Method, SL ) -
O i ip L2 (Double Decline Balance Method, DDB) » 2 % 5 & K etk 6 i &
£ 57 2%$54,000 -

=& # &2 (Sum of Years Digits Method, SOYD ) -

€20 7 T SA0,000 kT ER A AW ESA0000 TR Y 5 E o T A K i
2 1+
)

i%r_t%i?’ﬁ 1+ > RE SR FZALLZPZRREAFORT § ¥ H- BREHE
S0 EHE S EIS 8% B X EAFY] - B PR FPEL 18 ko PR AR X
g RAMBFEFF EL 7830000 2 4E 00 A FF R RPEED KB

=3

ALERFAERS > TP )ZD Ry - BEEABLGHE - I
' A
P ZEIB A CFE - FEH- FEDPY o2 0 I BHELAIBAY E

Rz LTmELER Gl R TR EHAER e EDFR* ? (154)
712 PN

Nq . =N
Foa@DTotl o J@EDT 1 DTN Pzpi{l_mgi)—élﬂ) } (i #9)
! i+ 21+ )N

N .
P=—1A? (i=9)
+1




